Time Resolution

e See the dt of A-B, C-D bars in room 306
« CERN bars need to be calibrated.

dt distribution
- dtmean
200 — Entries 1126
C Mean -13.8
180~ Std Dev 0.1216
160 ¥/ ndf 23.79/17
- Prob 0.1253
140 Constant 192+ 7.4
- Mean -13.8+£0.0
120— Sigma 0.1146 + 0.0028
100—
80—
60—
40—
20— J
D_I L1 | | 111 1 | 1 11 | | 11 11 | 111 | | L1 | | 1 Ihl_l.l | | | | | | 11 11

-20

-19

-18

-17

-16  -15 -14

AB

-13 12 -1 -10

labnua har-tl:lel:m' bar

180

160

140

120

100

80

60

40

20

0

dt distribution

dtmean
Entries 1182
Mean -13.63
Std Dev 0.1352
%2 / ndf 22.28/20
Prob 0.3258
Constant 182.2 +7.0
Mean -13.63 £ 0.00
Sigma 0.127 + 0.003

L.I....I....I....

-20

-17  -16 15 -14

CcD

-13 -12 -11 =10

lal:u:wan har-ll:leluw bar




Cosmic ray hit within a real ann. trigger

e Left (upward ann.) right (downward ann.)

Cosmic ray contamination in real annihilation triggers h
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Coincidence Hits

* The same bar hits within a trigger can cause pile up.
« Almost hits might be piled up. (showing sharp peak)
* Need to modify simulation?



Coincidence Hits
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Coincidence Hits

e A little modification..
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